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You have four choices for each objective type question as A, B, C and D. Wi zord S S SIS No.1
The choice which you think is correct, fill that bubble in front of that question number, .on bubble sheet. Use marker Q-No.
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D C B A QUESTIONS /=ty Sr.No.
If @, [ are the roots of 1
1 4 7 _4 7x* ~x-4=0 then aff is:
? 7 4 7 LI —x—4=02bs B ca Si
-cszof IS
If 2 1 then 2
e y'=x bt y =kx’ e
x AR % y’oclsﬁ
: X
, . The fourth proportional of 15, 6, 5 3
6 2 " 3 5 is:
1 e BBRE 15 65
t : £+l s 4
A constant term An identity An improper A proper fraction | (x-1) (x+2)
H/J‘V L Bk, fractxon. JE el o5 ol
i Aend G-1) (x+2)
{¢} {¢,{a}} {a} ¢ Power set.of an empty set is: 5
ke, -c‘-b‘n.‘.fjsg(.:«(d(é
ANBUMUB) | (AUBNMANCY | (ANBUMUNB) | (AUBNMAUC)I | 4J(BNC)= -4+ AU(BNC) 6
Constant Grouped data Histogram Ungrouped data | A data in form of frequency 7
J~ s s gl 4 distribution is called:
‘ , 5 ‘——VU'K’()"’U:J(} S s
180° 150° 135° 115° 3% pd = et 37| 8
gt B 4 4
T o Line segment joining any point of 9
Perimeter Radial segment . |. - Diameger Circumference | the circle to the centre is called:
ot Sy i % ey Woi b S e B Lt
A line which has only one point in 10
tangent of circle | secant of circle cosine of circle sine of circle common with a circle is called:
Tangent¥e s secante_7h cosinefe 7 sine¥e_7is S B LS Fe L I Bl
i
The length of chord and radial 11
segment of circle are congruent the
15° 45° 30° 60° central angle made by the chord
will be:
e Jas QQUJ ool st ek
WYL Sy -2
The length of the diameter of a 12
circle is how many times the radius
4 3 2 1 of the circle?
MZLJU/[.(_J!:JHJ)}‘LL‘/’D%/I
?4‘_3 %3
The number of methods to solve a 13
4 3 2 1 guadratic equation is:
"y, }’LLJ/ S SlolrGoasns
{ A _l__} 1 1 5 1 The solution set of 25x* ~1=0 is: 14
23 5 5 75 e f¥255% ~1=0
Product of cube roots of unity is: 15
3 -1 1 0 -é-wfgylv(w’d’ugééﬁ
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NOTE: Write same question number and its parts number on answer book, as given in the question paper.
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SECTION-1 st»

p4 Attempt any six parts. l 12=2x6 } E ez limgelds| 240y
(i) | Define radical equation. ’ oy /7J ST A ®
(i) | Convert 3x% —6x = x+20 into two linear equations. -SSR LUk nd3xE —6x=x+20 (i)
(iii) | Solve by factorization. 2x*—5x~3=0 D BB _ 0SS F s | (D)
(iv) | When a polynomial is divided by x+1 we have eSS é_%fr:?*" Lx+1 /‘}J iz (iv)
ggf;;eorﬁl ia;; ‘— x* and remainder 15. Find the Lk 2, e b 15 G X1
(v) | Find the discriminant 4x* -7x-2=0 4% —Tx-2=0-gE i) )
(vi) | Prove that x* + y° = (x+ y) (x + @) (x+@"y) ¥ +3 = (x4 p)(x+oy) (x+oty) St | D
(vii) | How joint variation is formed? : 7ot d_f g (vii)
(viil) | Find the value of p ,if the ratios 2p+5:3p+4 3: 4”, pp +5: 3p+4;5{"b”"‘-f(p (viii)
and 3:4 are equal. st
(iX) | Find a mean proportional between 9p°q*, r® 1o 9ptt, e e (ix)
3. Attempt any six parts. 12=2x6 Eifar i {‘__J,( 32
(i) | Define a partial fraction. AP 6y
9 Convert the fraction 617 ; % -6 into proper fraction. -g.f AN é’fi_j_ixzi (i)
2x° —x— 2% =o==1
(i) | 1f y=2",T7=0", then find Y NT A YN In V=27 T=0" /] (iii)
V) | yf A={1,2,3, 45}, B={2,4,5,6,8} then find A—B.' : )yzB {2,4,5,6,8} < 4=(1,2,3,4, 5\/ (iv)
A -é’:r}”‘ A-B
(v) | Define one-one function. s ‘ -Gy PSSy )
(vi) | Find @ and b if (2a+5,3)=(7, b—4) ',}:,;(2a+5 3)=(7, b-4) Sigr+ b ma | (VD
(vii) Define a frequency distribution. i ~ZE P (“ Ty (vit)
(viii) | Find arithmetic mean for the data. IR e (viii)
12, 14, 15,20, 24, 2L NG 12, 14, 17, 20, 24, 29, 35, 45
(ix) | On 5 term tests in mathematics, a stu:'ient has | J 5 2 ps e Hf Lt et L s éE Lo |
made marks 82, 93, 86, 92 and 79. Find the :
median for the marks. P Lus 194 92 86 <93 82
4. Attempt any six parts. 12=2 x6 L fehzlin . 374U
(1) | Define arms and vertex of an angle. 5y P st sH L sl ®
() | pind @,when £=45m, r=2.5m. w r=25musl=45m ,ééfr}"ﬁ @iD)
(iif) tanx tanx _ | (iiD)
Slmphfy cox soox =
(iv) | Express 6.1 radians into degree. SIS 6.0 a0V
(v) | Define chord of the circle. SIwFEnLen| M
(vi) | Define tangent line. Oy (vi)
(vii) | Define circum-angle. _ u:ox‘f YA, (vii)
(viii) | Define the ascribed circle. S PG (viii)
(ix) | The length qf t'he sidfe of a regular pentagon is PRI S F5 Gud/ éf L‘f? rb/vg (ix)
Scm. What is its perimeter?
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SECTION-IL w2
NOTE: | Attempt any three questions but Zofelz Latirledd
uestion No.9 is compulsory. 24 =8 %3 ’ i
| pulsory i o it
5(A) | Solve the equation. 2x* ~11x*+5=0 oxt 112 +5 = 0-ZE S febls | (D5
B) |fa ,ﬂ are the roots of the equation onS L Axt =5x+6=0bl fea N ()
z ) 2
4x* ~5x+6=0 then find the value of ——+£— *éf’b":‘}‘;i'ﬁﬂ—;
s - R
6.(A) | Find x in the proportion S ox ot X -3, 5 x-1. 4 g (-6
x=3 5 x-1 4 2 x-1 3 x+4’
2 "x-17 3 " x+4 _Eprad
(B) | Resolve into partial fraction. _r -/ U s S (&)
(x+2) (x*+4) (x+2) (x*+4)
7(A) |1fU=(1,2734567809 10}, U=(123,4,5/6,780910}/1 | (07
A=(1,3,5,7,9} , B={2,3,5,7} thenverify | «#7B={2,35, 7} A={1,3,5,7,9}
(4NBY =A4'UB’ (AﬂB)'zA'UB'«.{f
(B) | Find standard deviation. N e P ()
12,6,7,3, 15,10, 18,3 12.6.7.3. 15,10, 18,5
8.(A) | Find the values of gy %j—_}g; Juf Ut o /176 e
trigonometric ‘ 3 3 3 _
function at the indicated angle ] & > §| (s
@ in the right triangle.
(B) |Inscribe a circle in an equilateral triangle PP R TAD 5158 § ABC 2L tUet §rln
. AABC with each side of length Scm. s S S0
9. Prove that perpendicular from the centre et S8 J,;;;?__ S L IS¢ é,e- 9
of a circle on a chord bisect it.
OR L
The measure of a central angle of a minor J;w&,ugj;ﬁ,g,udf/u.,g‘._‘;,/,jﬁ;,?dd_,;uu/
arc of a circle is double that of the angle e W
subtended by the corresponding major arc. bl -
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You have four choices for each objective type question as A, B, C and D. Q.No.1
The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D c B A QUESTIONS /=ty Sr.No.
u=kv? w’ =k w? =1 u=v> If u o v?,then: 1
Fuvih
1 2
1If yoc; and y=8, when x=4 then value
40 36 34 32 of k is:
& Pae 1
Snedlkinx=42y=8u yOC—J-C-fI
Inequation Fraction Identity Eq;:ation | (x+3)? =x” +6x+9 is a/an: 3
e F / el el e (x+3) =X 4 6x+9
The different number of ways to describe a 4
4 3 2 1 set are:
G PSR p LiSoler
£l If X={a, b, c }then number of elements 5
le I 12 : 14 in X x Xare:
s,
go-l . A ISHIE X x X7 X={a, b, c} ]
Triangle Square Rectangle Closed figure | A frequency polygon is a many sided: 6
e &r J= T o e Suskltun 26
siné 1 ; sind sec@cotld = ; 7
cosd cosd -esssecl cotd
< A 4 The symbol for a triangle is denoted by: 8
¥ s . 4,{!"4//:{54_:/11#}/&15‘
Centre , Chord “Diameter. | Radius A circle has only one: 9
Py ) p ¢ s <t d‘.._fh.i/&_./’b..{l
A 4cm long chord subtends a central angle of 10
60° . The radial segment of this circle is:
Tem 2% . 4em S K e bl ol §60° 4 S a7 s éu( 4 L
Kx
Parallel Overlapping Equal Unequal The lengths of two transverse tangents to a 11
g iy s g pair of circles are:
VARSNGBV
4 {i 4} {i 2} 2 The solution set of equation 4x> —16 =0 12
is: 4..:»;._}"(4):2 -16 =0 =bi-
{1, 4} {-1, -4} {1, -4} {-1,4} The solution set of equation 13
x2-3x-4=0 is:
e S¥ x2=3x—-4=0 =il
If o, B are the roots of: 3x? +5x-2=0 14
3 23 _2 3 then a+f=___
. L 3 3 § 2 3x% +5x—2=0esunsufal
a+f=___
Real and [rrational Imaginary Real and The nature of roots of 3x> +7x—13=0 are: 15
unequal and equal W equal v 2
R ;L-g 04 ,,,j,. P | v— AISSnL 3 + T2 =13 = 0etis
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SECTION-1 Jit.»

2. Attempt any six parts. ’ 12=2x6 ' iy lingeds | 220
(i) | Solve by factorization. x° —11x =152 X -llx =152 £ ff | O
{ii) | Define reciprocal equation. ey eS| (D
(i) | Wrile the quadratic equation in standard form. 244 x-2 ‘J_,, 3 JL,,J e tsbo s (iii)
Xk Bl el i e o g
. x~2  x
(iv) | Find the discriminant of quadratic equation. 2%t +3x+7=0 ‘{l’ B4 e By | (1Y)
257 +3x+7=0
(V) | Evaluate 0% + 0® -5 o + @ -5 geknd | V)
(vi) | Write quadratic equation having roots. 1, — 7 ~1, =7 ot ive Prudiom | )
(v i1} | Define inverse variation. gl d | (viD)
¢l — o) i N
(v Find x in the proportion, 2y R g1 . —zizz-gffrk’aafx St (i)
| 535 7 '5°3 5
(ix) | Find a mean proportional between 9p®q*, r® 9p°q*, r* g e | (%)
3. Attempt any six parts. 12=2x6 vﬁd*&’ﬁé'z'{df} 340y
7%) What is an improper fraction? ?‘E-J s @
() |pf__3x+3 4 then find 4 and B. WAY w_ 3XH3 o4 B S| (i)
(x=1)(x+2) x-1 x+2 (x=D(x+2) x-1 x+2
| ~Ee il B
i) 1 1If X={l,4,7,9}and Y={2,4,5,9} thenfind YNX X&{1,4,7,91 4 Y={(2, 4,5, 9} FARGH)
...4-;'}“}’ NXIn
(v) |If L={a, b,c}and M= ={3, 4} then find two bmary MXL3n M={3, 4} w L={a, b, c}/l @iv)
lation of M ' ¢
B relation o xL. -ép"‘gwdtf»é
(‘/) Flnd ‘Xv and Y ’f X><Y={(a, G), (b’ a), (C, a)a (d’ a)} ﬁ".s:r)ij/J‘X (V)
XxY={(a. a), (b, a), (c, a),(d, a)}
[ 'i) Define Bijective function. - /‘7‘_(1)‘[5,)(’& (vi)
(\ i) | Define standard deviation. ’ ~Ea g | (VD)
(vm) Find range 12, 6, 7, 3, 15, 10, 18, 5 ] 12, 6, 7, 3,-15, 10, 18, 5 '4—f’ly‘-‘” (viii)
(ix) | Find arithmetic mean. 14800, 11500, 12400, 15000, 14500 s puit> | (%)
| =1 :
14800, 11500, 12400, 15000, 14500 .
4.. | Attempt any six parts. ’ 12=2x6 { .ﬁ,’i:‘iapﬁélzq:.éf' a2y
(i) | Define coterminal angles. ey Sumi ] @
(i) | Convert —225° into radians, ~ZEdw g -2250 | (D)
(i) | Find the distance traveled by a cyclist moving on 35w KIS Uk oS L m iy foog | (D)
i " 1acircle of radius 15m, if he makes 3.5 o v L §
L_ 4 revolutions. W Md’wé‘b“‘f—%)’g
(l‘}/,) Prove that wzl +tané Bt S50 =l+1anf SZEot B
L cos cosé
| () | Define acute angle. ey S | V)
" (vi) | What is meant by non-collinear points? St o e b5 4 (vi)
T;u) Define a cyclic quadrilateral. E v S ek | (viD)
g (viii) | Define a triangle. ey et | (vilD)
Perimeter of a regular octagon is 24 cn. SIS Lt S A @

Find length of its side.

DTN

= \-/ Product of cube roots of unity is: 15 l
-1 1 0 e PSS L0
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M IN-224
SECTION-II s L
NOTE: | Attempt any three questions but ; & ez le rfeldd | )
question No.9 is compulsory. 24 =8 x3 gD iy dg
5.(A) | Solve the equation S (x=D(x+2)(x+8)(x+5)=19 =i~ .5
(x-D(x+2)(x+8)(x+5)=19 L
(B) | Find A, if the roots of the equation - (Roots) oL x —hxF10=0 =il Ji (“; )
x*=hx+10=0 d1fferby_\3. -gf;r:“':,th?nJ}K3
6.(A) | Find the value of ¥+2¢  x422 if 1o 42 using |2 LS J1 =F ST s T | (N6
x~2y x-2z y+z 4yz 2 e
the theorem of componendo-dividendo. - x= e qrs Cat "‘j‘!fz; z+‘2—z
®) Resolve into partial fractions ———»-1—-2———- e J"’” ULz )
: (x+D(x"+1) (,x+l)(\c + 1)
TA) |1 U=(1,2345678910}, °. - U={1, 23, 4,5,6,7,8,9,10} /i | (0.7
A={], 3 S; 7 9},B={2,3,57} thenvenfy J nB={2,3,57} - 4={1,3,5,7,9}
(B) | Find standard deviation. ? : I T A de -
9,3 8,8, 9 8 9,18 : \ ® 5 ¥ )
: i eAS 9,3 8,89 8 9,18
v
8.(A) | Find the;raiue of mglg,’:)nomemc1 ragos a}g Jf e SN uLqui O 13 (=3, 4) 15/
oint (— 1s on. the terminal sides o
g ( ) -gf;r#‘u:f Jions
(B) | Circumscribe a circle about a tﬁanglté"A‘B‘C with BC AB s £t B st 26 K AABC
ides |4B|=6cm, |BC|=3cm, |CA|=4¢i - i p
sides |4B|=6cm, |BC|=3cm, |CA| fm J A e 6 PSS CA O
9. Prove that perpendicular from the centre of a RAa Zabnt & e e inf ot —
circle on a chord bisects it. ° ) - 9

OR
Prove that any two angles in the same
segment of a circle are equal.

-
-{._\Z‘/

L
:undtgufp//b,;ﬁo?._,{lﬁér’Ugj_',f;‘/:if'
-u,YZ.yI,;l/:fTL
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